MOUNTING INSTRUCTIONS

Racing Screerrs

mooet - 2014 O
/&

ENGINE SPOILER FOR bﬁkeiioiur5682J
SUZUKI GSR 750 Rbef.:k5682C
— B "
=,

AN
2k

Left lateral Lateral izquierdo-Left lateral




A
p”’g ENGINE SPOILER FOR

Racing Screers

SUZUKI GSR 750

ID. DESCRIPTION QTy.
2%
1 % Right engine spoiler 1
2 % Left engine spoiler 1
\‘1\
3 = Central engine spoiler 1
4 Front right metal support 1

(MODELS 2011-2012-2013)

=z
R@
5 Rear right metal support 1
6 @% Front left metal support 1
7 E Lower rear left metal support 1
8 NS—F® Upper rear left metal support 1
9 (@) M6 well nut (supplied alredy mounted on the piece n°1-2-3) 4
10 @y M6x15 I1SO 7380 Allen screw 4
11 © Bush with falnge 6
12 @y M6x20 ISO 7380 Allen screw 6
13 Well nut 6
14 0 Nylon washer 4
=
e——_
15 F-é’ﬁ Stickers set 1
P70
16 \ Front right metal support (MODEL 2014) 1
17 © M6 1SO 7380 screw cap 8

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.



https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

